=SJ =N

Hmd—F K38195

E_I___j

I\ MFHA4000R

Ebmm e EIT, MFHA4000R-10

- B CIEN DR, AFEbmiftinRinle SEET L,
- FEFEREROD—ERIC(E, XD Y MEFEDHDEBmNHDET

5

=]

-

EHIHIA Y —



==

=

HmD ZTEXICDNT

1. WSRO CEXORE, FREEE Cli <
W8 %

BMEBERTA @WK)

5 &

BB S

B

MR BN L BRRRMES & UREICHHO
F—LT L= FERRLTOET,

CISICECICYY,

2. M oH -k, PIFTo 2 &2ERLTED
7,
He-v ol &, flAAENT VL B HEESELE
& ic kb B33,

A7y ST 385 THE T34t
B LUMOWE .

3. RHLESH KH->TVwAbDiE, 8
FHEEED, B ELS PV ETDOT, =
DOEE KT TV X% 4,

4., MAHRO—EIE, LBty FEFED
HOEWRPBH O £, THEXDEEIL THEEL
S, FREHmEL AN TV VIR
oy MEGEDOADRIGEZIET WK EET,

KBEBEIBRFC RO TFES IR - MEZEE
THIEDHET,

MIEBROEIRFRIZONT

ARG IS ETRR e BEORD CZE W0,
MIRLRAEBEVICE D 4 & BHORTEP
HERICER T 28 H D T,

OB OFERROMBER GHED &,
HEFTBUDRIFETT, i L, BHEERNT
H-oThd, BHEPBRICOWTIEEL &% T
IEHTVWIELGE DD ET,

BT O S (FRERBIIIC 3 LR OB ER T
BT LETH, HHEEREERETH > T, i
IR D TEFEL B - I E R B L Cliigico
WTIHRKEETW A EE T,

REEIZDIVT

B OUE IMECRKE B 30T, 1Th
WOTLIEE W,

BUE L 2B e IR E Ic RN oz E L L
FHEMNERLZ 255, FiFoxgAcisn
TOTITEEL LIV,




MFH4000R 7 x L—2/\—~RX¥
FrRyIX

REES| MRE\FS il an % PR 8% {8 =
1 1401660004 Fyar—2 1
2 0810883004 FAEF vy 7 1
3 BSZ10030 aFy Ry T MIOX30 6
4 WSAL0 NEHFHER 3Ty MIO 6
5 1300960002 ~_~UVFF 30T 1
6 1132600002 PIC¥ + 7 b 1
7 J6208 R—=N_7Y 7 6208 1
8 J6207 F—=xXT7 Y 7 6207 1
9 0341711000 v 4
10 D35558 A ANy —ib D35X55%8 1
11 1401670002 NN F o MBS X13T 1
12 1401680002 Y7 b 1
13 0008240000 PICH /v~ ;2 1
14 J30307 F—No—3~X7 Y vy 30307 1
15 D457212 A ANy —iv DASXTIX12 1
16 073444000M A 2
17 1 078908400M Aviay e b M30X15 1
18 J6309Z R=x7Y vy 63092 1
19 1133980002 f 5~ 45X18 1
20 D559010 A Ay =i DE5EX90X10 1
21 140169000M A5 — ;45.5%X9 1
22 0899470004 Fp ¥~ 1
23 0897611004 F—= 1) —HR 1
24 0897452004 V7 —1 ;200 1
25 BZ12040 R b 8.8 Ml2x40 6




MFH4000R 7 5 b—o/1\—ARRX%
FYRyIX

36
RtEsS HaES # B % {3 {EES T
26 | WSA12 NEFEHFX 3T M2 6
27 | 046336200M AVAaysFy b MAOX15 1
28 | ONB6 JY—R=y 7N B M6 1
29 | 0691333000 Fxw 755 AS 1
30 | 000338000M M107 35 &7 1
31 0003390000 Ny dy MIOT 57 3w) 1
32 | BZ12060 F k88 MI2X60 6
33 | 042783600M Ty ¥y ;12 4
34 | WSA12 NRYFH R FTT MI2 4
35 | NZ12 Fv b8 2¥a Mi2 4
36 | 0960820000 PIC#+ v 7 ;35 1
37 | JLAO45ASY N7 —Ig4 v LA—45 1




K547

REEE HHEES & T % PR B 1 E
1 1466570004 Fvva vy —usCP 1
2 0717700000 Ty Va 2
3 ONAS6 gV —R=y 7N A M6 1
4 071883000M 7w v, 30.56X4.5 2
5 PC050045 o) EY 5x45 1
6 1466520004 7= , 1
7 J6306LLU R—_7 Y v 6306LLU 2
8 DHCO072 CHsbrvrg 7+ 12 2
9 DC030 CH#bxw Y7 30 2
11 115687100M Fvvavuay FCP 1
12 VSGLLCO55 Vb LC~b5 A—s¥—T— )L K 4
13 000048200M £ B8X35 1
14 044097200M Tyvy ;8 1
15 PC032016 JYEY 32x16 1
16 119888000M 2RF7Y T A p4X23XTE 1
17 025266000M Fag A vHFHF 1
18 | WRA12 ESHAR M2 1
19 | NZ12 FvF 8 2¥a2 M2 2




MFH4000R 7 3 L—Ui\—ARX¥
TS5AKRA—=I « & p—IN—

7S uFRy 2 Z(1)

BB~
HEfTHR
Riis HEHEF i it ¥R 8% &
1 1193650004 7 54 F 4 —JVCP 1
6 0799983004 N VT 2
7 1008810004 Fou7 2
9 0899550002 A7 — ; 50x56.5 1
10 | 0899560002 A5 — ; 50X30 1
11 J6310 R—=xX7 1 7 6310 2
12 | D588012 A ANy =i DHEXE0X12 2
13 G63756 A Ay —i GB3XTH5X6 2
14 | BZ16040 R 88 MI16X40 8
15 | NZ16 Fv b 8 2va2 MI6 8
16 | WSAI6 NERYAH R 3T MI6 8
17 | BSZ10030 azgENmy T MIOX30 6
18 | WSA10 NRYAR 3T MIO 6
19 | ONB6 JY—=2=y 7NV B M$§ 1
20 10897611004 =) — KR 1
21 0897462004 V7 —1 ;180 1
22 | BZ12040 For 88 MIi2x40 6
23 | WSA12 NRYFAR 3Ty MI12 6
24 | 046336200M AVAaysFy b MAOXLE 2
25 1134311006 YaAvhAS 1
26 | BZ12045 Fb 88 MI12x45 2
27 | WSAI12 NEYH R 3T MI12 2
28 1134252004 F47 6
29 | BX14150035 Foubh 109 MI14X1.50x35 24
30 118592100M NATFVT 9 Ve 14X45 24




MFHA000R 75 L—IN—~ZS

TIARA=IV « ¥ v —IN—

‘ I3y FRy 2 (1)
FHIN
HETHR
Ri&ES| MamES il ) e PR %L % £
31 1134260004 FA 7 HNTCP 6 | G52t
32 BCT10060 Hh 27y €y MIOX60 12
33 NZC10 >vr 8 3¥x MIO 12
34 BX16150040 Fov k109 MI16X1.50 x40 36
35 NZ16150 F+9 b 8 2¥=2 MI6X1.50 36
36 WSA16 NrRHAX 3T MI6 36
37 1401731004 V=N — 1
38 BXI12055 Ak 109 ¥ MI12X55 2
39 NZ12 >y b 8 2v2 M2 4
40 BX12075 R b 109 MI12XT5 2
41 WSA12 NERYHAR 3T MI2 2
42 072013200M NATFYT Yy 12 2
50 JMDASY 245 73 MD AS205 2
51 ONAS6 Y ==y 7N A Mb 1
52 8027560000 DN —




MFH4000R 7 # L—YnN\—~KRZX%
95 9FHRKy o X(1)

TIuFRy IR (2)
HEIN

PIuFRy IR (2)

FEEEBEAN
RbES HEES B ) & Fr (5 & £

1134332004 FyrHr—2;,L 1
1134341004 Frir—2 ;R 1

3 BSZ10040 a#gyFENE T MIOX40 9

4 WSA10 NRYFHR 3T MIO 9

5 PS080032 27N v TEY 8§X32 2

6 BZ12050 Fob 88 MI2X50 4

7 NZ12 Fv b 8 2va Ml2 4

8 WSA12 NAYFH R 3Ty MI2 4

9 1134350002 Y% 7 b 1

10 1134360002 F¥ ;16T —353P 1

11 0625860002 jvg 1

12 D30507 A ANy — D3OXEOXT 1

13 | J6206 K= xTY 7 6206 2

14 | 0554000000 N 1

15 1134370002 Vv 7 b 1

16 | 0814320002 F¥ ;24T 1

17 1134380002 AT = 35.7X256 1

18 | 0625860002 N 3

19 | 0702081004 F ;17T 1| BF¥

20 | 0702071004 F¥ ;197 1| BFy

21 056984000M 7Yy 2

22 1134390002 ¥ ; 16T—30SP 1

23 1134400002 Y7 b 1

24 | J6206 R—x7Y 7 6206 2

25 | J6206LLU B 7 Y vy 6206LLU 2




959 FKRy o A1)

REES HEEFS 0 bt % R H% ] %
2 | D35558 AA L= D3I5X55%8 1
27 | D356210 FA N — D35XB2X10 1
28 | DHCO062 CHI L AT T+ 62 9
29 | DCO30 CHorAT Y7 30 1
30 | 1134410002 Y7k 1
31 | 0814320002 F ;24T 2
32 | 1134380002 55— ; 835.7%25 1
33 | 1134360002 F¥ ; 16T —35SP 1
34 | 0825750002 £ ;18T 1
35 | 0814310002 F¥ ;15T 1
36 | 0814340002 Ty 36X2 1
37 | 0814300002 h5— 1
38 | 059312200M | 51 5 — 1
39 | J6206 R—<T YT 6206 4
40 | 0814291002 Y7k 1
41 | 0814350002 £ ; 14T 1
42 | 0872231002 YR 7k TANRS 1
43 | NC2L20150 FroANFu b 2vats M20X1.50 1
44 | PCO40040 7Yy 4x40 1
45 | 075318000M | ¥# % 1
46 | JK303520 ——FA~xTY v K303520 1
47 | ORGO30 0V vs G-30 1
48 | 0825772002 Y7 1
49 | 0610702002 2 ~—4 5 30%13.8 1
50 | JWS81106 Z—FuTY s WS81108 2
51 | 0814370002 F¥ ;19T 1
52 | 0706431000 = 2
53 | 0814380002 £ ;24T 1
54 | 0814390002 R 1
55 D40558 A4 —i D4OX55%8 1
56 | ORG030 0Yvs G-30 1
57 | D30507 A4y — DIX50XT 1
58 | J6206 K—LST YV 6206 2
59 | 000338000M | M1075 & 2
60 | 0003390000 Ny kY (MIO7 573 ) 9
61 | 0591333000 Fzv 755 AS 1
62 | 0702091004 ¥ ;16T 1| By
63 | 0702061004 F¥ ;20T 1| BEy




MFH4000R 7 # L—Ii\—~RX%
95 yFRy o 2R(2)

o—)h; U
HEIA

AP
@/% . @/@30/3’
/

26

HET AR
12941 FrRrOTEs
FFETRAT
RiES| HamES i H # i) LGRS i
1 0825802004 ¥F¥zx7Fosy FCP 1
2 075318000M YA & 2
3 NC2L.20150 ey RNFoy b 2¥aks M2AX150 2
4 PC040040 7Y EY 4x40 2
5 DHC062 CHs 29 7T+ 62 2
6 J6206LLU F— 7Y vy 6206LLU 2
7 0825790000 F ;15T 1
8 0814415000 ¥ 7 5CP 1
9 0826553004 ¥ 7 b7 —=ACP 1
10 | ORP020 Oy vs P-=20 2
11 000056200M v ; B10X40 1
12 | PC032016 JYyEY 32X16 1
13 | 000067200M B Bl2x60 2
14 | 000085200M N—g v 8X16 2
15 1134440004 A7al oy b 23T 1
16 | 0811753004 PR Vi Y 1
17 | 0811771000 Ty Va 1
18 | 0825812002 Y7 b 1
19 WRA30 LA M30 1
20 | 0826620004 T - 1
21 | J6206LLU F—~7 Y vy 6206LLU 2
22 | 075318000M FH R 1
23 | NC2L20150 FrwANFw b 2¥aks M20X1.50 1
24 | PC040040 7YEY 4x40 1
25 | DHCO062 Chs w27 T+ 62 1

|
oo
|




MFH4000R 7 5 L—n\—~RZX%
95y FiRy T 2R(2)

BN
Y .
G

HATH 1A
11
FURUTLL g o a
BETRAHT
RliER HEES #3 S % PR B {8 E-]
26 | 0825832004 AGN I HY Y 1
27 | ONAG6 F) ==y TN A M6 2
28 | 0446912000 Yy — R 4| FESr
29 | NSP03 IHAYRFYVTF o b 4 M8 4| FlEsr
30 | BZ12025 A b 8.8 MI2x25 1
31 | WSA12 NEHFEHE 3Ty MI2 1
32 | LA50038 o—3F - 50x38L 1
33 | AAO5O Y EF 1




MFH4000R 7 5 L—21n\—~RR%

a—=Ji; U

7IvFRy A (2)

HE18
REES HEES & 5 BF {5 & x
1 0669544006 YaAVvIrAS; 2 1
2 1134490002 ¥+ 7 +CP 1
3 0665764006 Yad YIFAS;1 1
4 ONAG6 JY ==y 7 A M6 1
5 BZ12045 A 8.8 MI12X45 2
6 WSAL2 NRFEAR 3T M2 3
7 1407931004 Y ¥ o—LCP 1
8 096104100M Ty ¥y 2
9 0702872000 Ty Va 2
10 WRAS30 bR M30 1
11 1134541004 A4 F7—=4CP; R 1
12 1134591004 A F7—4CP; L 1
13 | ONB6 JY—-R=y 7 B M6 4
14 1134603004 74— Fo—nCP 1
15 | 096104100M VR 2
16 0702872000 Ty va 2
17 WRA24 ESHH R M24 1
18 PC050036 7YY 5X36 1
19 | 070290100M A5 - 2
20 | 0811090004 A vy oy b 18T 1
21 1134420004 27wl oy b 26T 1
22 | WRA24 ESHN R M24 2
23 | PC050036 7Ky 5x36 2
24 LA50045 o0—35F x—V 50X45L 1
25 0800300004 A Z W 2

|
—
[}

|




a—Jjb, U

N—RZE

%%

N

EITHR
759 FRY IR (2)
#E18
RBhEES BRES #R i % PR % % F
26 | 059483000M Ao xENL I M8X25 4
27 | NSP08 AXFRTYTFy b 4 M8 4
28 | 113465100M o— 7 —4LCP; 1 1
29 113468100M 0— 7 —4LCP; 2 1
30 | PS080050 ATy ey 8X50 1
31 1134700004 J7h7— A 2
32 | 0702892000 Ty Va 4
33 | ONB6 JY) ==y 7N B M6 6
34 | 066871100M AT — 2
35 | 058125200M Ty ¥, 26X2.3 4
36 | PCO50036 7Y EY 5X36 4
37 | 0814090006 27Y T 2
38 | 070286100M A7) T RN 2
39 | 025266000M Fag A UFH R 2
40 | BXI12070 For 109 ¥ MI2XT0 2
41 NZ12 Fv b 8 2v= M2 3
42 | AA0S0 v FF 1
43 | BZ12060 R b 88 MI12X60 1




MFH4000R 7 5 L—=2/1\—~KRR%
aO—Jb; Lo, ¥219

77y FRy 2
5 FEaea
S
RibES HEES & ) % PR % 8 %
1 1193920006 Yaf v hAS 1
2 TRK10020 6 A XY 109 Z7#HF3I MIOx20 1
3 NSZ10 axyFe b 8 2va MIO 1
4 083823000M 7 v ¥+ ; 30.5%38.2 1
5 1134810004 7L — v o —vCP 1
6 1134861004 Yy 7 b FL—vo—Jb 1
7 0811062004 P 7 2
8 101743000M AVEE 4
9 0811170004 AT — 4
10 115760000M A5 — ;30.5X23 1
11 DHC062 CHEI AT TF 62 4
12 NSZ10 afgyFy b 8 2¥a MO 6
13 WSAI0 NER¥EH X 3T MIO 6
14 JCS206LLU 2=y haYXTY vy CS206LLU 2
15 081310100M 5 - 1
16 1134881004 7o v koa—CP 1
17 1134931004 Yy 7 b 7B VE 1
18 055204100M f 5 - 1
19 0007290000 A F W 2
20 JUEL206D1 A=y bayx7 Yy vy UBL206DI 1
21 0702780004 A F W X—CP 2
22 NSZ10 akdyry b 8 2v= MIO 6
23 WSAIL0 NERFEHAFX 379 MI0 6
24 0811090004 Z7asy b 13T 1
25 0702820004 =i B 1
26 1134420004 27agy b 26T 1

|
T




40 “ l/—/\-—$7

a—JV; Lo, #2129

REES HREFS #h AT %4 Fr @ 1 £
27 NC2L.20150 FroRARNFv b 2¥aks7 M20X1.50 2
28 075318000M FH R 2
29 | PC040040 7Yy 4X40 2
30 | LAB0039 0—5F - H0X39L 1
31 0825690004 A7k oy b 16T 1
32 LA60037 0—-3F - 60X37L 1
33 1134940004 Fv¥av7T—4CP 1
34 | NZ16 Fv b 8 2¥a2 M6 2
35 WSAl6 SNEWH A 3T M6 2
36 WRAIL6 ESHHR M6 2
37 | 081267000M Fvv¥agva—35CP 1
38 | DCo17 CHE b2 Yo 17 1
39 1002670000 YeZ b ATVY 1
40 1002641004 27 v’y +CP 1
41 081459100M =R 1
42 067032100M RA7Y T 1
43 DCO025 ChHsrvxwy Yo 25 1
44 | J6205Z R—=_T7 Y v 62057 2
45 DHCO052 ChHsbrrxv 77+ b2 2
46 1002660000 Ty Voa 1
47 | 081381100M L=k 1
48 1002650004 75y FRNT— 1
49 NC2L.20150 FryvRNFoy b 2¥akr M2AX1.50 1
50 | PC040040 7Y E Yy 4X40 1
o1 PS050050 Z7Y Iy 5X50 1
52 | ONAG6 TYR=y 7NV A M6 2
53 1153791004 R Y =¥ 1
54 | BX10035 Fov k109 MI10x35 2
55 WSAI10 NERPEHF 3T MI0 2
56 075290100M 7y v ;10 2
57 | 0674891000 F a2k —2CP; 800 2
58 | EWK869932 SEY ¥5 (1/8) 2
59 | EWK869935 LFv¥5 (178 2
60 | EWK864106 SEY 57 (M6) 2
61 EWK864206 LFY¥5 (M6) 2
62 | ONBS1 JY—-—2=y 7 B PT1/8 4
63 | ILT100 Avvavy 74 2.5X100 4
64 1038750000 aYNy g AR—Z 4
65 AAQ050 v EF 50 1
66 | AD050 A7y Yy 50 1
67 AA060 vF5 60 1
68 ADO60 A7y by vy 60 1
69 0831702000 Fa2wak—2CP; 900 2
70 081114100M 7Lk 1
71 BZ06012 Fh 8.8 M6xX12 3
72 WS06 NERYH R 2T M6 3
73 NUZ10 Us-v b 8 MIO 2
74 | 0704200000 N —
75 JUC206D1 2=y ba3IXTY vy UC06D1 1
76 JSEASY Z24 % 23 SE AS105 2




MFH4000R 7 3 L—2Nn\—~RRX%
T34V

RbES HamES # Ao i R = 18 =l
1 1139410004 7 1
2 ONCS1 ) —=R=y 7N C PTL/8 1
3 KMSTO014 TFEVIEYR YT 14 1
4 1139421004 24 1
5 1139430004 7w b 1
6 1139441000 Ty Va 1
7 1139551000 T4 vy 1
8 0007170000 Fa—akr 1
9 1241080004 As3—CP 1
10 1241090000 Yy b Fv= 2
11 076510000M FaoNv 3
12 | 072013200M NAF YTy vy ;12 4
13 | BZ12030 #FA b 8.8 MI2X30 4
14 | WSAI1L2 NERYFHA R 3Ty MI2 4
15 | BSPZ08016 IHISWyFFEr T M8X16 12
16 | BSZ10030 aFyFEr T MIOX30 2
17 | 044098500M 7w ¥ ; 106X3.2 2
18 | WSAI0 NAFHFR 3Ty MIO 2
19 113945000M s~ FVCP 1
20 1139480000 Z2Vny I hT— 1
21 1139563004 YyydTL—1+CP 1
22 | ORP60 QY v P60 1
23 | 000087200M N—F Y ;16X2.3 1
24 1489080000 vh ;0.6 -

!
—
iy

|




Jb—LA

B aES # An i 1% H El
1401742004 AA 7 V—4CP 1
1135162004 A4 w7 L—4CP;2 1

3 BZ12035 R+ 88 MIZX35 2
4 WSA12 NEAYFHR 3T M2 2
5 NZ12 Fw bk 8 2¥a2 M2 2
6 078063100M AT - 2
7 BZ16060 F b 8.8 MI6Xe0 2
8 WSAL6 NEYFHAX 3T M6 2
9 NZ16 Fv b 8 22 MI6 2
10 | 042322200M 7y ¥y ;16 2
11 1201480004 RbELTL—FCP A 1
12 1201490004 RKPLTL—1CP ;B 1
13 | BSZ08020 aFdgFEvr 7 M8X20 3
14 | 0565474000M A7 FFINVE 8.8 M8X20 4
15 | 044097200M Tv ¥y ;8 4
16 | NSP08 AaHFERTY v TFy b 4 M8 7
17 | BSZ10060 aFyErr 7 MIOX60 6
18 | BSZ10030 aFyFEmr 7 MIOX30 4
19 1 075290100M 7y ¥y ;10 10
20 | NSZ10 aFgyFe b 8 2va MIO 10
21 | WSAI0 NRYFHEX 3T MIO 10
22 | WRA10 ES¥A R MIO 10
23 1135651004 2% v FECP 1
24 | 077934200M =4 1
25 | 000738000M JryFEY ;6 1




MFH4000R 7 3 L—I1\—~RR%
TJU—LA

29
REES| HmES #B an ¢ i ks fid =
26 | 0241180000 7Y w7 1
27 | BZ12130 Kb 88 M12x130 1
28 | NNF12 75 v VFLarty b Ml 1
29 1135860004 vy Y 2
30 | BZ12090 F b 8.8 MI12X90 2
31 NNF12 75 v VF 4+ y b M2 2
32 113589000M T YT 2
33 | BSZ08020 amgELE T MEX20 4
34 | 0808270004 AR 2l 2
35 | CM08025 +H¥IFaHY M8X2H 4
36 113591000M T VI 2
37 | 05547400M A7 FFENE 88 MEX20 4
38 | NSP08 AFGATY) v TF b 4 M8 8
39 | 070638200M (S 2
40 120225000M DvFEY 2774 —F v FUF 4
41 079140100M Fo—NEy 1
42 | 000739000M JvFEY ;9 2
43 1064800000 TN A 3766 1
44 | 0889790000 7 ~v ;5 540~600rpm 1
45 1215040004 Yaly FCP 1\ A7vav
46 | NNF08 75 VF4avFy b M8 4
47 1560980004 A -




MFH4000R 7 5 L—I/1\—~RR%
U7 b7 —4

A T—L

12
DIN—RIYH
20 a7y
&\ 28~
AL 15 \\<
™~
RiEs #HomES il & & [} fE%% i %
1 1371140004 V757477 —aCP 1
2 ONB6 JYR=y TN B M6 1
3 119689000M e rCP 1
4 B5Z10030 aAyEnbs 7T MI0X30 1
5 WSA1L0 NEAYFHRX 3T MIO 1
6 115167000M 27 Ya—T Y% Rb 1
7 087229100M 2y 7 )yt ;20 1
8 066915100M RTY TRV 1
9 ONAG TY)=RA=w 7N A M6 1
10 | 0813710006 R7Y T 1
11 081372000M AT TR 1
12 | 081375100M e 1
13 | 000739000M JryFEy ;9 1
14 | 0813701206 LYY vy 36X1T5 1
15 BZ16100 F k88 MI16Xx100 1
16 | 081515100M [ 1
17 | 000739000M JvFEy ;9 1
18 128821000M o Ba0X90 1
19 | NSZ10 aFyFy b 8 2¥a MIO 1
20 | NNI16 FAwF oy b M6 1
21 120255000M YYFEY 7T 4 —F vy FUF 1




MFH4000R 7 3 L—I/1\—~RRX%
FIN—

RHES T hEFES B T & FR E#L i

| 1402062003 #1/3—CP ; Rl 1

2 | 0796583000 =¥y ;50 2
3 | 079659100M | 45 /¥% 8
4 | 044097200M Ty ;8 2
PS040016 27 v EY 4%16 2
1402070003 515 R2 1

7 | 0796583000 =FY ;50 2
8 | 079659100M | 5 /vx 8
9 | 044097200M Ty 8 2
10 | PS040016 2TV Y TEY 4%16 2
11 | 1138450003 A1/3— ; R—3 1
12 | BSPZ08016 SHISWYFELRE T M8x16 2
13 | WRA08 EZ¥H % MS 2
14 | 1402080003 #1/3—CP ; R4 1
15 | BSPZ08016 aHSSWYFELL T M8X16 2
16 | WRAO8 ES¥H % MS 2
17 | 1402090003 A= T =Y — 1
18 | BSPZ08016 DA ZSWYEELE T M8X16 2
19 | WRA08 EI¥H % M8 2
20 | 1138432003 #1,3—CP ; LO 1
21 | BSPZ08020 aAHISWYFELRE T M8EX20 2
22 | 1193890003 s13— ;L3 1
23 | BSPZ08016 SHISWYEELE T M8X16 2
24 | 055474000M AL AFLE 88 MBX20 1
9% | WRAO08 E5¥FA % MS 3




F/8—
7
3
8~
6
REES HEES s Gt R {E%L 1§ %
26 NSP08 ANGRATY s TFy b4 M8
27 1193910003 Fox— 12
28 055474000M B xFEIWE 88 M8X20
29 WRAO8 ESHFHER M8
30 044097200M 7y ¥y ;8

IHSRTYV Y TF v 4 M8

Ax—CP; L-1

1
1
4
3
1
4
1
33 | 0796583000 =F1 ;50 1
34 | 079659100M + IR 4
35 | 044097200M Ty ¥+ ;8 1
36 | PS040016 ATYvITEY 4X16 1
37 | 0333782000 7w 1
38 | NSP08 AHGRFY T Fy b 4 M8 2
39 1138500003 Ho3—v 7 CP 1
40 1061710000 SN T4 a78 2
41 1064780000 A as64 1
42 1163941000 TN Favkal 1
43 1163950000 TNV, FaveA2 1
44 1339780000 STAR< —7 5 ~L ;40 2
45 1151210000 5~V ; MFHA4000 1
46 1061720000 SRV hA4as9 1
47 1065310000 SN A as117 1




MFH4000R 7 3 L—I/n\—~RR%
FOr AORFaiNAT

REES Ha&ES S o % PR {5 & £
1 113730200M 57 +CP 1
2 BZ12035 Fok 88 M12x35 6
3 WSAI12 SNXRFAX 3T M2 6
4 NZ12 Fv b 8§ 2¥a2 M2 6
5 055640100M 75 v 1
6 0442890000 =Y ; M8 2
7 1160041003 75 v YCP 1
8 BZ12035 R b 8.8 MI12X35 6
9 WSA12 NEPFHR 3T M2 6
10 NZ12 Fv b 8 22 Ml2 6
11 0814611002 Yo — LA = 2
12 BZ12060 R 8.8 MI12X60 8
13 WSA12 NEAFEH R 3T M2 8
14 | NZ12 Fw b 8 2va M2 8
15 1001382003 75 v YCP 1
16 PS080040 27 ey 8xX40 4
17 ONC6 JYy—2=9y 7 C M6 4
18 100137000M S 1
19 PS050032 27Y v TEYy 5X32 2
20 096536200M 7 A FEI b 1
21 067931100M 7y Ve ;12 1
22 NT1219030 yHF v b MI2X19X30 1
23 WSA12 SNEYH R 3Ty MI2 1
25 0814600002 T4 — A 1
26 1196010003 A G 2

|
[a]
S

!




MFHA000R 7 5 L—Dn—~R%

FoOb. AGRF0o a7

FRY T
FH14~N

RES WRES s G PR fE%k i £

27 0814631000 Ty Va 2

28 ONAG6 T =2 =y 7N A M6 2

29 BSZ10045 aFyFEr T MI0OX45 4

30 WSAILO NERYHR 3Ty MI10 4

31 NSZ10 afgsFy b 8 22 MIO 4

32 PS080050 A7Y T EYy 8§X50 1

33 071615200M e 1

34 044098500M 7w vy 5 10.6X3.2 1

35 PC032016 JJEYy 32X16 1

36 1061640000 AV AN i = B | 1

37 1065251000 TN A4 3711l 1

38 0467530003 AV RFvva A TCP 11 A&7va v
39 BZ12035 Kb 88 MI12xX35 6| ATSva v
40 NZzZ12 Fw b 8 2va M2 6| ASva v
41 WSAILZ SNEAYHR 3Ty M2 6| AT va v
42 1132550000 A RATF VY av{TAS 1\ 4A7vav
43 1151210000 Z b, MFH4000 1

44 042783600M Ty ¥y, 12 6

45 0574600000 A




MFH4000R 7 3 L—2/\—A~RR¥Y
Ya—b AGRFara—h

RW&E=S| MREES & fn # FR B & E
1 1001361003 va—+CP 1
2 081468000M [ 1
3 PC050036 7Y EY 5%X36 2
4 0473930000 27U v ABX3TXT05 2
5 070286100M AT VT RIS 2
6 025266000M Fag XA UFH R 2
7 BAI12100 Aok 46 € MI12X100 2
8 NZ12 Fv b 8 2¥a MI2 2
9 7018020000 A ¥ 1
10 DC020 CHsz b2 Yo 2 1
11 1158560003 HaR— b 1
12 BSZ08025 aAFy RV T M8X25 2
13 NSP08 afyATYy Ty b 4 M8 2
14 0814671003 25 —CP 1
15 076132000M S 1
16 000085200M N—F v 8X16 1
17 | BSZ10030 afgyFEr T MIOX30 2
18 | NNF10 73 vIFLuarvFy b MO 2
19 0843442003 A RFvVay VYa—+CP 1
20 1174200003 ~v FCP 1
21 000451000M B RFEINE MI0OX25 6
22 000443200M B0 RFE R MI0X35 3
23 084346000M AT - 3
24 | 044098500M 7y ¥ ; 10.5X3.2 12
25 | NSP10 afy RNy I Fy b 4 MIO 9

|
|




N—=RZ%

Ya—b AVRAFVavva—h

RtES WRES =i i % PR {E%% & £
26 027445100M U NRTY vy H 1
27 0826781000 o —7° 1
28 134160000M 759y b 1
29 134161000M T VI 1
30 134162000M 7= 1) CP 1
31 0703432000 Ay o3 — 1
32 BSZ08020 IHFZ RN T M8X20 4
33 NSP08 ARTGARATY) T+ b 4 M8 6
34 TRK06012 6rARY 109 783 M6X12 1
35 NZ06 +w bk 8 2¥a M6 1
36 1339780000 STAR~—7 5~ ; 40 2
37 | 0469010003 AR5 ¥ g ¥a—hCP 1147y a v G00miE)
38 BSZ08025 aHFyERIVE T M8X25 2
39 080414100M Ty Yy ;8 2




MFH4000R 7 5 L—I/\—~R%Y

a7y

Yo7 —L

AMI—L

5514 b 3=%
6 -
\% q/

S
13974-1
REEsS HaFs R st % R £ i
1 | CLF40M 275 AR PTL/2 1
2 | 0007781000 N7IF %97 12 1
3 |2083—08—04 | =v 7N PTL/2X1/4 1
4 | 0009280000 A by 7 NNT 5 1/4 1
5 | KHOA05000AP | 27 vh=2R 1/4X5000 1—4 1
6 | 1035—04 F— Rz V#45 PFL/4xXPT1/4 1
7 | ILT300 {¥vaoyy 54 48x301 3




IVIFH4000R7 s U3

/\—-/\Zﬁ’ |

YEFoJEy, FUEDaYyMO-I
1
3
5 }‘?szZ ?é\
/ bl _
/ /"/’;“‘ [
12 Sﬁb
¢> 4
134\ \/ /
11%
20
20
19 DIuFRy TR (2) N
8
9
;
17
REES HMEEBE 0 5 £ Fr B fi# %

1 1201240000 -7, Ut — A 1
2 BSZ08025 IHZFEIE T MEX25 4
3 NSP08 aABYRTYITF o b 4 M8 4
4 1341661000 NG =V FE—F 1
5 BP06012 SWoE+FRIbk 46 M6X12 3
7 0814421000 FYRY) s 1
8 1353630000 A4y FRy TR 1
9 1345450000 2 — K ;5000 1
10 1142581000 a—F ;2 1
11 ILT100 A vy 2754 ;100 7
12 1038750000 IRy JAN—R 4
13 ILT300 Avvavay 744 ;300 4
14 119600000M By YT 1
15 TRK08020 BhXxxY 109 Z7+FI M8x20 1
16 NSZ08 aKFsFw b 8 22 M8 1
17 FU30A ta—X; 30A 1
18 0840720000 ZA v F ; S—338 3
19 FU30A Ea—X;30A (¥a—MHD 1
20 FU15A Ea—R;15A (/59 Fen~y FHD 2




MFH4000R 7 5 L= /\—~RX%
FINA Y

[ 13975 |

REES HmFS #B i i) {E%k fié
1 0838523003 F o4 FCP 1
2 0734180003 FR— kW5 —CP 1
3 073419100M HR— p N 1
4 067925000M T FCP 1
5 042783600M Ty Y5 12 4
6 BZ12040 Fov b 8.8 MI12x40 2
7 NZ12 Fyv bk 8 2¥a MI2 4
8 WSA12 NRYHEX 3TU MI2 2
9 BSZ10030 aAyFwr T MIOX30 2
10 | NSZ10 afwyFy b 8§ 2va MIO 1
11 | WSA10 NRYHER 3TU MIO 1
12 100183000M 7 1
13 | BSZ10030 amggFwt 7 MIOX30 2
14 | NSZ10 awyFe b § 2¥a MIO 2
15 | WSA10 NR¥EHE 33y MIO 2
16 | 044098500M 7w ¥y ;10 2
17 1415650003 73 v +CP; L 1
18 | BSZ10070 aHFyELE T MIOXT0 2
19 | 044098500M Ty ¥y ;10 2
20 | NNF10 75 vYFA4arvFy b MO 2




A - INT

113973-1)

20

l
1
{
i
i
I
|

d

REES HoES B Bn iy {E%% fié %
1 1548560000 51 ¥ ;6.00—-9—10PR 2
2 1548570000 Fa—7;6.00—9
3 064906100D A= 400EXODT
5 BA12025 Fubh 46 MI12Xx25 12
6 NA12 Fv b 4 Mi2 12
7 WSAI2 NRYFATR 3Ty MI2 12
8 0004064003 NT AB2XT2 2
9 J30207 T=oNO =5 XTI vy 30207 2
100 | J30205 F=No—-3~7Y vy 30205 2
11 000500000M V=T g ¥y IHXT2 2
12 | WRAZ24 ESHEAR M2 2
13 | 000712000M F oy ANF oy b MUX15 2
14 | PC040032 TJYEY 4X32 2
15 | 000414000M Fy v ;02 2
16 | 000421000M F b M12X1.50x45 12
17 | NZ12150 F+v b 8 2¥a2 MI12X1.50 12
18 | WSA12 NERFEHER JTY MI2 24
19 | ONBS1 Y —R=y 7 B-PT1/8 2
20 | 0649051000 %4 vAS;6.00—9—10PR -




LA—45
IND—D a2k

RiEEs #HEESs | s & % i | % | 1
L A 45
Asy | JLAO4BASY W=V a4 v LA—45 1
1 JLAO451ASY Jag v+ Av+7 3 LA—45 1
2 JLAO452ASY Jad v 795 LA-45 1
3 JPYLA Eyyda—s (LA) 2
4 JLAASY zZ4 4 73 LA AS270 2
5 JFYLA1 4w Fravra—s Av+ LA 1
6 JLAQO451 47 4 v+ LA—4b5 1
7 JPCI4ASY s5v7rEY 73 (14 2
8 JLA0453 TvEYAN— A vF LA—45 1
9 PS100075 ATY ey 10XT75 1
10 JYPLAO045 NA Ty Fa—~y LA—45 1
11 JLAO454 TyEYHN— Ty LA—45 1







AR

S-1507230

IMLE R FR

A LU 3R FR

066-8555

066-8555

098-4100

080-2462

086-1152

028-3172

983-0013

323-0158

484-0894

700-0973

861-8030

885-1202

TR EEHRHLIOELIF B2

TELO123-26-1123
FAX0123-26-2412

TR W EERHLIOEL F o 2

TELO123-22-5131
FAX0123-26-2035

KIEHBEEN T LI~y 1191 FH44
TELO162-82-1932
FAXQO162-82-16986

WA 22481 THLI 2% H#H 4
TELO155-37-3080
FAX0O155-37-5187

TR PEENTILIT2THLGE 2

TELO153-72-2624
FAX0153-73-2540

EFRIEETAREIIFHEL1E120% 3
TELO198-46-1311
FAXO198-45-5999

EWEAMETEREXhEFMi179-1
TEL O22-388-8673
FAX022-388-8735

oA Bl di R 2512 -1

TEL 0285-49-1500
FAX0285-49-1560

EMRALUTHAEREFERBSFL
TEL 0568-69-1200
FAX0568-69-1210

BB LTI THE704-103
TELO86-243-1147
FAX0O86-243-1269
REARBATRXAILT1639-1
TEL 096-389-6650
FAX096-389-6710

EIFRASRT ST 1003 - 2

TEL 0986-53-2222
FAX0986-53-2233

T.27. 07. 3S®




